
A. Choose the Correct Answer: 
1. What is the formula for the area of a triangle? 

a) Base × Height   b) × Base × Height 
c) Side × Side    d) Length + Breadth 

2. If the base of a triangle is 10 cm and the height is 5 cm, the area is: 
a) 25 cm²    b) 50 cm² 
c) 15 cm²    d) 30 cm² 

3. A triangle with base 12 cm and height 6 cm has an area of: 
a) 72 cm²    b) 36 cm² 
c) 24 cm²    d) 18 cm² 

4. If a triangle has an area of 40 cm² and a height of 8 cm, what is the base? 
a) 5 cm     b) 10 cm 
c) 8 cm     d) 16 cm 

5. Which of the following can be used as a height in a triangle? 
a) Any of the three sides 
b) The longest side only 
c) A perpendicular line from vertex to base 
d) Only the base itself 

B. Write the Missing Terms to Complete the Sentences: 

1. The area of a triangle is calculated using the formula __________. 

2. A triangle with base 7 cm and height 4 cm has an area of __________. 

3. Area is always measured in __________ units. 

4. If the area of a triangle is 30 cm² and height is 6 cm, then base is __________. 

5. The perpendicular drawn from the vertex to the base is called the __________. 

C. Figure out the answers to these questions: 

1. A triangular field has a base of 20 m and a height of 12 m. Find its area. 

2. The height of a triangle is 9 cm and its base is 10 cm. What is the area of the 
triangle? 

3. A triangle has an area of 56 cm². If the base is 14 cm, what is the height? 

4. The area of a triangle is 32 cm². If the height is 8 cm, find the base. 
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5. A triangular banner has a base of 16 cm and a height of 5 cm. What is its area? 

6. Find the area of a triangle whose base and height are 6.2 cm and 4.5 cm 
respectively. 

7. A triangle and a rectangle have the same base and height. If the area of the 
rectangle is 48 cm², what is the area of the triangle? 

8. The area of a triangle is 84 cm². If its height is twice the base, find the base and 
height. 

D.  Mark each sentence with a True (✔✔) or False (✘): 

1. The area of a triangle is always half the product of its base and 
height. ________ 

2. A triangle cannot have a height greater than its base. ________ 

3. The area of a triangle with base 0 cm is also 0 cm². ________ 

4. Height and base of a triangle must be the same to find the area. 
________ 

5. A triangle with base 10 cm and height 0 cm will have an area of 0 
cm². ________

E. Challenge yourself with these questions: 

1. A triangle has a height of 7.5 cm and a base of 8 cm. Find its area. 

2. Convert an area of 0.5 m² of a triangle into cm². 

3. A triangular plot has an area of 225 m². Its height is 15 m. Find its base. 

4. Find the area of a triangle whose base is a mixed number 3  m and height is 2  
m. 

5. The length of the base of a triangle is 12 cm and its area is 90 cm². What is the 
height? 

F. Find the area of each of the following triangles. 

1.      2.   3.   4. 4


